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

1
03 :   

 

  


: 






7:80oC 


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: 

 









 

1



Q ∝ m  

8: 1
 

600C

: 
1
 









 

2



Q ∝ ∆T 

9: 
 

600C 
800C

: 
600C800C
 









 

  
Q ∝ m.∆T	→ Q = m.S.∆T ( S ) 
      SS = ொ

௠.∆்



1oC 


S.I. 
J/Kg-KC.G.S. 
cal/gm-oC. 
 1 cal/gm-oC = 1 K.cal/Kg-K  
                     = 4.2X103 J/Kg-K 
11oC

1 cal = 4.186 J 

: 










: 


 



AV-clip


    0.031cal/gm-oC = 130 J/Kg-K 
 0.033 cal/gm-oC = 139 J/Kg-K 
     0.092 cal/gm-oC = 380 J/Kg-K 



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